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NEX:

Thex fo,1 Is a P&-P (see HOOG ), voith peaa
/LL=O ovd st dev & = 1 lcnd) dowaan

(—co,oo)).

I—F X 2 G t)ofulo:]‘ton ®&r Gh tV o.;;'H\ F%{‘
'po,u wWe- Sa “X Is S’f&v«&m‘& norua-(

or ‘\X is N(O)—i\ :,

Then of courss, for —0%a ¢ ’J‘*aoJ
b ek %
Pla< X< bl=$, £, 0 dx=ar i, & Tax.
Note:
'PO,I hes no Slul—[.) le axtid=rrvative,
So in cﬁe_r\ci\azl, to carpcte standard)
hot vwc’..( Pr‘olbc..éllrhe_s, we l/\.ez-cQ Rae,w-o.pm

sSVUhAN.
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For GKG.w.Flc) (‘l‘g kheu.w. 'U\a:l) l)o X:/V(Oj 1.))
then

() P(-1<X<L)= 0.6%3. That is® in o standarl
noruwal distrbotion, 6R.37% of the HLaho
is wlhn one 51 dev. of the mean.

6 (Wnla-r Lf)

P(-a< X<d)=0. 755,
P(-3< X<3)=0.997.

(¢) P(- 1.96“){4 l. ?6)3 O. 95 Th o stondacl
normal &1s+mluotrou, 5% of the data is
wdhin (.76 €18 devs. of the wean.

S tnalae

P(-2.33< X<2.33)= 0.93,
P(-a.576< X< 3.576)=0.99.

(EJ) Other noreal ch‘pé
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then one checks thal 'F/’a,o— s a Pcﬂ'ﬁ tatth
meon 2% S"'& Qe S . (AIMQ ‘Ea,a" s I’\OPMI_
it hod the sawe basic shape as fo, )

I‘F Z 1S an rv oof‘l‘ln &-—p -P o, i
"7 s /\/gu,o-)/.’ P / >



UsefUl (dea to kinous Mu,o) Pnobolc/rlzc—s, s
evuc;g‘\ to knsuwo /V[Oli rpoés.&{z'}lcs

Fler&ls u.:hzf
N [ S/V/ b ( horwuc.,( (S S"‘G.v&c.r& mrumJ (178 cQ_Uq'.UlSC)
feuct - >
TP Z s /V{/L,O'J) then
X= Z—M is N 2).
&

[ Proof ontied. ]
Heees hovs we use ths fact :

EXam:p les.

(1) ‘SuPtns: Z IS /V(Q,O.S—). Find. P((.00< 7,23 .9%).
/ t, “slandordiaz” Z (Sc»é‘}ra.d/‘-)'“““ Qnde= bcr o-)
;-20 vUOoh.,

P1.0a< 7<3.9%) < P(:.oa-a, 73 < ;z.%—a)
0.5 0.5 0.5
= P(- [.36< -2 < L%) = 0.95=957.
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() Soppos= Y is N-43). Find PC4< Y<3).

So‘utlgho
P(-4< T<2)= pl-4-(-1) < Y-(1) 2 Q=(-1)
3 v 8) ‘ 3
=pP/-1< Y-(CI) <
( 3 )
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‘cm"(- c»mQA:T = 0. 6%3 = 6%-32:.

A( )abw:
(5) Su o-‘ Frnd the or‘hou ot
oagsmw\ Z N\aiﬁ/‘ Fhn 3 14 &zvs of the

501 u‘fl,OV\

We're /001;':% for

P(/«-3c— </ ‘:/Q+ 3s-)
= p(//A-Sc“—//,L zi& < yi3s- )

=P<—3<{-Z?_A < 3) = 9% Zs,




